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def ls w(xv,yv,n):
P = n*sum(Xv*yv) - sum(Xv)*sum(yv)
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return p/q
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return sum(yv-w*xv)/n
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def ne(X,yv):
num example = X.shape[0]
one = np.ones((num example, 1))
X = np.hstack((X, one))
XtX = np.asmatrix(np.dot(x.T, X))
pinv = np.dot(np.linalg.inv(xtx), x.T)
return np.dot(pinv, yv)
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def ne(X,yv): ﬁF:(XTX)_le
num example = X.shape[0]
one = np.ones((num example, 1))
X = np.hstack((X, one))
XtX = np.asmatrix(np.dot(x.T, X))
pinv = np.dot(np.linalg.inv(xtx), x.T)
return np.dot(pinv, yv)
X = np.array([[l, 8],[2, 7]1,[3, ©6],[4, 5]1])
yv = np.array([1l,2,3,4]).reshape(-1, 1)
print(f 'normal equation solution: w (transposed) = {ne(X,yVv).
normal equation solution: w (transposed) = [[ 1.75 -0.1875
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